siesE(FER 4 ATETERI[SE] 1R I E b
g | (= BRAEE/BRER/ RENEE B ORE/ ERITE e sy 1|~ R
B &[T 2 | 3 | 4] 5 |6 BRI T

11A *

2 | K

3|k

4| K

5 | &

6| X

718

o | g [¥] 7% | ®E TE | BIE [VOARMA(T815 AER13:30B X [10:55
x |mE mm|ureiE| AZREH | ARR|OE(SB A 1 BEEEER1515 15:00

e x| 78 || BF | FEF | — - |2, 3FE£ER10 #BER:20 AT ENEEL - BLER X |12:55
x | B SIPE 1EEER1030 BER FAEFITL T30

10 x|* BE | BE| O3 32 33 -— |1EEREE R RS O |1500
x 12:45
B S 42 43 44 45 | —- O [1510

& = SC 12:55

12| & B B | SF | 51 52 53 | — |EREER(N O |15:10
Ty|#RER PTASEZEESR16:00(REE) 12:55

13|

14| A

5| g [ 7% [ [ 5% | 7% | 8a | — [HENTAN BEAE O [15:10
| 56 NT A SETIOEMRSY fasim MR SFLESHEMRAECONIZE) 12:55

o % 2 22 23 24 25 26 O [16:10
b 12:55

171 % ] 32 33 34 35 — |EELHE (HENX O |[15:10
= WmERE 12:55

18| % B 42 43 44 45 | 8 [3ELEFH-FERTAE (1 HH5+505) O [1s:10
2| QEF| QM BPIERS ANESR  PTAGAS EEZAS SO 12:55

18] 2 2 EE | 58 54 55 | #EF | S |8 RELHE EEENIL O |16:10
z SlEELINE e REIEELIIE 12:55

20| =

21| 8

ol g |E 1| 2| B | 4|5 |FE EAEES O |16:10
Ed 12:55

MEE 22 23 24 25 26 O [is:10

il = 12:55

" 7k|§_7*t 31 | 32 | 33 | 34 | 35 | —— |RREER() O 1510
= 12:55

25| % )] | s | B | BY | =B | 88 [MEH-RERRAET (EHEEIIS/9EME) O |16:10
B P REFES SC 12:55

P 2| EmE [ 51 52 54 55 — |[BES8 B O [158:10
Ty| 2E BRBEHBAR 12:55

2748

28| H

T o))

wla| T ] 2| B ] w5 | — [REHED AR O |15:00
X SARIRAER(2) 12:45

XITEE, AP EDSTHERLHYET HETHLRFLLTIREIW,

EEEN 8K TR TR
SC:AI-MAIvEI— SSW:RI-MY-Y4h7-h— ICTICTXIEBR




